e’
IS5 N L

gg%‘

FEHEMNERAT

YUEQING HENGZHOU MACHINERY CO., LTD




COMPANY PROFILE
1 121= 1)

FEMEMIBARAEMUTNIBRETRMAAEIIWK, g/ETF 2008 F, B2UUEFHELHE
FH. BASN. KEXXSNFAENUEFNZTL AT, A8 ~ml ZzATIUNSEA. EFf. B
FUEE. BIZNR. BaifeE&E. AEFE. BFFSEIUL. 3D fliEFHE 290

REPESEZTLFEER. NId0. MSERSE, FIEIZE#E, RARN—R, EENEF
@ ® ®
ZWE5F ROTENE, HIHT - Ei-ulﬁm . HEZH . WL ~ =RNEE. IfF, tREnss
Hm, FRAHSESH, ZHERMEER, REAEF R,

EMNSEEF, UFEaREAzd, URSEFATRE, HALXRE, HETE-—RFRME .



Yueqging Hengzhou Machinery Co., Ltd is located in hebao industrial zone, xiangyang city, zhejiang

province, founded in 2008, is the production and development of micro guide, linear guide, precision cross
guide and other automatic accessories professional company. The company's products are widely used in
industrial robots, medical, electronic instruments, CNC machine tools, automation equipment, automotive
manufacturing, electronic semiconductor industry, 3D manufacturing and many other fields.
Company has all kinds of professional guide surface grinding machine, machining center, rail grinding
machine, such as advanced manufacturing technology, first-class technical strength, years of production
. . . T 45 5 o
experience and continuous improvement of the product, made T’ . HEZH - LWL

15 N L e
stability, smooth, high service life features, product sales throughout the country, are exported to European

the product

and American countries, welcomed by the masses of customers.
Hengzhou and you hand in hand, take product quality as the core, to serve customers for the purpose,

common development, to create first-class products together.



N




'S

CONTENTS ERUN R
1BEIA 01
LWL-5B &% 04
LWL-7B %5 05
LWL-9B &7/ 06
LWL-12B £#75! 07
LWL-15B &% 08
LWL-20B &7/ 09
LWL-14B %7/ 10
LWL-18B %75 11
LWL-24B &% 12
LWL-42B &% 13
FE R RESHE 14
RN EESH HZV] 21
R RS EH HZV2 )
RSRIETH HZV3 23
R RIS HZVA 24
TN EESH HZV6 98
R FEFFEH HZVO o
XX FESH HZV12 27
RZSRIETH HZV15 28
R RIEFH HZV18 29
X SH HZWM2 275 30
TX S HZWM3 2751 2l
TXFH HZWM4 R 37
MN BLRET S5E 33
N/O BLRET Al 34

X AR RS a5






18N www.yghezh.com






MREA S 7

Micro linear guide rail pair

AU
REELSNEIEAIN. AR W EORSAR.

HELSNETFN, MRERALRSEMBNNBRZE, SEEELEMNEERE BN TMmMANRER R, B
HRRMIRE R P SRELIREFEE, ERRGBNREENHSEERLEE. RaREMRERAMHLEHRS, THEMMLE
A, HAENBRAG. BLEFHBEBNEDEHFLENTBTRTZMN

LWL B SHBES

a1l IEEES
BASNEEBNRRERERI, FRERABEERDFI 1/50, ch. BEREIEHEETEMERD, KIEHTFR,
B AERED, ABFERITHR, #WEEXD um FALNEMEE, AnTREMNTRSNBNEENRHE,

LR 2 KiIBEREIERITHE
HATELSNEHNERNIERE D), R[N, EENGIEE), BEXEERENGENNZEE, BEEESEN
ABR), BEATEE. MEBDREMSEHE 1.

im3 EAREhEa
BESWERR EEEERIL, IERLGERENBE, TAERMHE B HhIURE, EENEFREEREED, &1l
SREKATEIREHEE.

=4 Bk, BEHEENR
BE4SHHEMRERY, BRNMEEETHRES, RETEAERKR, RITENEERITILERHEEASE, BLERE
HRE, MMRIEF @G aflEeE.

fims5 REHE. ERES
HATREFRENNIRAR, BRELES, BNPNTREILIRE), REHE, EASNATERNE, 95 EsREiEm,
BEEZELS, BEAESEMAEEEE.

fim 6 AHEENA. NIES

BE&SHEASEANAEMAIRT, SEIHENRIAE, FUEMLS)N, SR M EARRT v B M B R ik 7R A
AigE. HTFHRZENTERRS, JRNERO[EEAANNE, BIFERENKREE, FNIEEREEEESEE.

fEHANAE www.yghezh.com 01




- 45 MBS SHE

Micro linear guide rail pair

S N AT

H&STWHNRE

L EREHLASNZAIOEFIHZTEEDNED. SYRREHR. I8 BOBNEERNTENFREHTEH, RE
BRESCEEEEEDLAEETE, BEEFHERERE, BAARESER. PTLCERIGRER £ E BURR ik A d.
L BENRERETEFRS L, EANEEERLIHEMBBEE AEENSNRARERRELS. T8 RECHNERIAER
“ZIZENE , RGREMIAYEIGRITHEEE, SAKRMAASHEESEMAME.

3. BRREANZINF BN E R LHENES, FRESEERERHNLS. IIFEHPRUE AR MimE S L
FRIRIRERRE. EEAEEEHERG, MaaMREEmABES, EENALHEMSSMEEER.

4. FERENRF, KESHRESEDERBNZE IR IISIEE.

B B4R i K HI%E

BEHSE (kgf* BEXR) , A7AERE

RS

30 Bk Has
M2 6.3 42 3.1
M2.3 8.4 5.7 4.2
M2.6 ' 126 8.4 6.3
M3 A 21 136 10.5
M4 44.1 29.3 2
M5 845 63 472
M6 146.7 98.6 735
M8 325.7 2153 157.5
M10 ' 7242 483.2 356.7
M12 1264.2 840 630
M14 1682.1 1125 840
M16 2100 1403.5 1050

REBMIERBT MR RE EBLNE SIERBEEE, BEREANRFHBENEZISREE.

5. FRRRELSRZEEN, BT EBEETNSEN L. FREERELANBIGE, BRETEMEFHTFRETIE
AMEERE, ©ATHMEIGFRAMF—HRE, TR ELRZERERRF) o

6. RERZEBTES (table) BIEMERIMNAVBEL.

7. Y EBHTE LB EERLYE, REEUERHERE TIIREHET.

02 18M#H www.yghezh.com



M HZFHE

Micro linear guide rail pair

e MM N AR
NFRBY SRk
HEZH LWL 5 B 1  L55(7.5) N
AR R SIKE
(HEE)
DRSS )
B WetaR | N | SiEk
BG LR | P [HER
FEmiEiE
=)
% .
: | N\
R At e

AR

1am www.yghezh.com 03



MBI E&SHE

Micro linear guide rail pair

L

LWL-5B %51

'
SMEZR T
w1l L1 Z-M1xdepth
W3 W2 a L3
2 7
| ==
T Wl 7 !
* s
E F .E.]
ARME S
EE (g HAERT (mm) BERRST (mm)
il g=] Weight Assembly Dimensions of Block
Model 3 3
odel | AR I BHM | |y | 0N wi | w2 | wa |wa| L1 | 12 | 13 |L4|Mixdepth| H3
Slider | Rails
LWL5C 8 12.2 6 15 35 12 8 2 16 9.6 2-M2*1.5 1
LWL5B 10 12.2 6 1.5 35 12 8 2 19 12.6 2-M2*1.5 1
=
SFIMAESE
3 T B Rt R TS A | ISR SR A . :
o _:%%R__J' (mm) o X KE (mm) Standard Standard .ﬁﬁﬂﬁﬁjﬂi%ﬁ Static
FilE=1 Dimensions of Block Rail mounting |dynamic load| static load instantaneous torque
Model
bolt\r\n The Ingth C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4 h E F e e N N e e B
LWL5C 5 3.6 24 | 36|08 | 75| 15 M2*6 540 840 2 13 13
LWL5B 5 3.6 24 | 36|08 | 75| 15 M2*6 540 840 2 13 13

04 @M www.yghezh.com



B EZ S A

Micro linear guide rail pair

LWL-7B %75

wi L1 4-M1xdepth
] & ? i I ,
N ~ gt“ H4, ¥ | i‘
I L
d3
N ow E F . E
ERAESER
B2 (g AERT (mm) BEHRRST (mm)
Filg=] Weight Assembly Dimensions of Block
Model 3 3
odel | MR | B | HL | N | wil | w2 | w3 |wa| L1 | 12 | L3 |Ll4|Mlxdepth| H3
Slider | Rails
LWL7BS | 7.1 22 8 15 5 17 12 2.5 19 9.6 2-M2*2.5 15
LWLT7B 10 22 8 1.5 5 il 12 2.5 235 8 14.3 4-M2*2.5 1.5
LWL7BG 14 22 8 15 5 17 12 25 31 13 216 4-M2*2.5 15
=1
FHAESER
BIRT (mm) BNREBRER | WERSOAR WESSAE | wocmigmis static
- : : < X ¥ (mm) | Standard Standard | .
FilE= Dimensions of Block : ; - . instantaneous torque
Rail mounting |dynamic load| static load
Model bolt\r\n The lnggth C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4 h E . of the bolt size X N N N-m | N-m | N-m
* 1:9 1.6
LWL7BS | 7 5 24 |42 | 23|75 15 M2*6 650 1180 43 154 | 12.9
" 49 4.1
LWL7B | 7 5 24 |42 |23 |75 15 M2*6 1200 1960 72 | 295 | 245
" 8.1 1.7
LWL7TBG | 7 5 24 | 42 | 23|75 15 M2*6 1510 2750 10.0 506 | 441

1B www.yghezh.com 05




- 45) HUEASHE

Micro linear guide rail pair
2 W A 2 P

LWL-9B 271

W1 L1
L3 4-M1xdepth
w3 w2 d4 L2
g ! . | i
™ Sl ( =
o T
d3
N E F E
ARME S
HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
oce | AR EM Ly oy | N wl | w2 | ws [wa| L1 | L2 | L3 |L4|Mixdepth| H3
Slider | Rails
LWL9SBS 11 35 10 2 55 20 15 2.5 215 119 2-M3*3 22
LWLO9B 19 35 10 2 55 20 15 25 30 10 20.8 4-M3*3 2.2
LWL9BG 28 35 10 2 55 20 15 2.5 40.5 16 30.9 4-M3*3 252,
=S
FNMESHK
BIRT (mm) BNREGRBR IWENSOE IWERSAT | wocmanis static
— : : st X ¥ (mm) | Standard Standard | .
filE= Dimensions of Block : f d ie loadl statie oad instantaneous torque
Model : Rla\:l\mc-)rllil]nt;ng ; ynamic loa static loa
olt\r\n The Ingt| C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4| h E F | of the bolt size X N N N-m | N-m | N-m
* 3.0 2.5
LWLOBS | 9 6 35 6 35| 10 20 M3*8 1070 1540 7.2 272 186
" 9.4 7.9
LWLSB 9 6 35 6 35 10 20 M3*8 1610 2860 13.3 530 | 445
" 194 16.3
LWLOBG | 9 6 35 6 35| 10 20 M3*8 2080 4180 19.4 102 85.6

06 18 www.yghezh.com



B EZ S A

Micro linear guide rail pair

LWL-12B 7%/

IMNERF

W1 L1
L3 4-M1xdepth
w3 w2 d4 L2
T < H I nrm i
b % = nn} F T )
T o T f L I
d3
N E . _F E
BARMEESEH
HE (g HERST (mm) BERRS (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
oce | AR EM Ly oy | N wl | w2 | ws [wa| L1 | L2 | L3 |L4|Mixdepth| H3
Slider | Rails
LWL12BS 22 65 13 3 7.5 27 20 35 25 13 2-M3*3.5 257
LWL12B 35 65 13 3 1.5 27 20 35 34 15 21.6 4-M3*3.5 2.7
LWL12BG | 52 65 13 3 7.5 27 20 3.5 44 20 32 4-M3*3.5 2
FHAMEER
BIMRT (mm) BNRERRBR IWEDSOE | FERSAT | v cmaums static
= : : st X #E (mm) | Standard Standard |.
Ur=1 Dimensions of Block : / : - instantaneous torque
Rail mounting |dynamic load| static load
Model bolt\r\n The lngth C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4 | h E F | of the bolt size X N N N-m | N-m | N-m
* 55 4.7
LWL12BS | 12 8 35| 65|45 |125] 25 M3*8 2000 2470 15.3 433 | 363
. 160 | 134
LwL12B | 12 8 35| 65| 45 |125| 25 M3*8 2960 4450 27.6 %66 | 811
& 318 | 26.7
LWL12BG | 12 8 35| 65| 45 |125] 25 M3*8 3780 6430 39.9 174 146

1B www.yghezh.com 07



LWL-15B %51

IMNERF

MBI E&SHE

Micro linear guide rail pair

L1

Wi 4-Mlxdepth
L3 -M1xdept
w3 w2 d4 T
= B A
o 3| 1 = 1 T
d3
T F E
ARBEH
HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
odel | AR I BHM | |y | 0N wi | w2 | wa |wa| L1 | 12 | 13 |L4|Mixdepth| H3
Slider | Rails
LWL15BS 12 107 16 4 8.5 32 25 35 32 17.7 2-M3*4 3.1
LWL15B 64 107 16 4 8.5 32 25 35 42 20 27.8 4-M3*4 31
LWL15BG 95 107 16 4 8.5 32 25 35 57 25 42,7 | 62 4-M3*4 3.1
=
SFHABER
BIRT (mm) BNREGRER | IWESNSOE IWERSAT | wocpmames static
- ; 5 st X ¥E (mm) | Standard Standard |.
FilE=1 Dimensions of Block ’ ! : . instantaneous torque
Rail mounting |dynamic load| static load
Model bolt\r\n The lngth C co To Tx Ty
W | H& | W5 | W6 | d3 | d4 | h E F | of the bolt size X N N N-m | N-m | N-m
LWL1SBS | 15 | 10 35| 65| 45|20 | 40 M3*10 3120 ad0 | 311 | 21| 102
) ) i ’ 87.6 | 73.5
" 30.8 | 259
LWL15B | 15 | 10 35 (65|45 | 20 | 40 M3*10 4390 6730 51.8 178 149
n 66.2 | 55.6
LWL15BG | 15 10 3565|145 | 20 40 M3*10 5750 10100 T1.7 351 294

08 1@ www.yghezh.com



B EZ S A

Micro linear guide rail pair

LWL-20B &%

Wi 4-M1xdepth
- xdeptl
W3 W2 da
e |
— ‘;ﬁtj =T ] 7T
T o F%ﬁ %4, I v 7
g | Bl
d3
N W E F E
ARBEH
HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
ode gﬁir R%ﬁl H HL | N wl | w2 | w3 |w4| L1 | 12 | L3 |L4 |Mixdepth| H3
LWL20B 133 156 20 5 10 40 30 5 50 25 346 | 55 4-M4*6 4.2
LWL20BG | 196 156 20 5 10 40 30 5 68 30 523 |72 4-M4*6 4.2
=
SFMMESE
» = A DT fife T 7 A 1a " :
BIRT (mm) BYZRERER WEDSNE WEBSNH | 4 5ommm6 static
=] Dimensions of Block T—'-X_'L‘E (”:‘m) g e laad instantaneous torque
el : F\Ia\:l\moﬁntlmg " ynamic loa static loa
olt\r\n The Ingt| C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4 h - of the bolt size X N N N-m [ N-m | N-m
* 546 | 45.8
LwL20B | 20 11 6 95 | 55| 30 60 M5*14 5830 9420 96.1 201 244
* 106 | 88.9
LWL20BG | 20 11 6 95 | 55| 30 60 M5*14 7350 13300 136 519 461

1B www.yghezh.com 09



LWL-14B 7%/

MBI E&SHE

Micro linear guide rail pair

W3

H3

BRAESE

da

4-M1xdepth

wHe,

d3

HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
ode gﬁir R%aﬁl Ho| HL | N wil | w2 | w3 |wa| L1 | 12 | L3 |L4 Mixdepth| H3
LWL14B 21 54 9 2 55 25 19 3 315 10 22 4-M3*3 17
LWL14BG 31 54 9 2 5.5 25 19 3 12 19 325 4-M3*3 L7
=
SFMMESE
BHRS (mm) BURERILRR | MERMSNE WEREAT | woomaunie static
- ; 3 st X ¥E (mm) | Standard Standard |. 7/
i Dimensions of Block . f : : instantaneous torque
== Rail mounting |dynamic load| static load
Model bolt\r\n The lngth C co To Tx Ty
W | Ha | WS W6 | d3 | d4 h - B of the bolt size X N N N-m | N-m | N-m
" 10.1 8.4
LWL14B | 14 | 55 35 6 32| 15| 30 M3*8 1770 2840 20.3 547 | 459
* 210 | 176
LWL14BG| 14 | 55 35 6 32| 15 | 30 M3*8 2320 4160 29.8 104 | 876

10 1@ www.yghezh.com



B EZ S A

Micro linear guide rail pair

LWL-18B &%l

IMNERF

w1l L1 4-M1xdepth
w3 W2 L3
d4 L2
7] T
= W) j g
| o %ﬁl , il S : v v jﬁ_%
i
d3
N W E F E
ARBEH
g2 (g HERT (mm) BERRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
odel | AR | B | HL | N wl | w2 | w3 |w4| L1 | 12 | L3 |L4 |Mixdepth| H3
Slider | Rails
LWL18B 44 90 12 3 6 30 21 45 39 12 28.6 4-M3*3 25
LWL18BG| 61 90 12 3 6 30 23 3.5 50.5 24 40.4 4-M3*3 2.5
=1
SFMMESE
BURS (mm) BURERLBR WENENT | WEBEAR | o i static
= f - st X #E (mm) | Standard Standard |,
A= Dimensions of Block . J : : instantaneous torque
Rail mountin dynamic load| static load
Model bolt\r\n The Ingth ’
olt\r\n The Ingt| C co To Tx Ty
W | H4 | W5 | W6 | d3 | d4 h - F of the bolt size X N N N-m | N-m | N-m
. 169 | 14.2
LWL18B | 18 7 35| 65|45 | 15 | 30 M3*8 2280 3810 34.9 90.1 | 75.6
* 319 | 26.7
LWL18BG | 18 7 35| 65|45 | 15 | 30 M3*8 2870 5300 48.5 150 | 134

BN www.yghezh.com 11



MBI E&SHE

Micro linear guide rail pair

LWL-24B 7%/

W1 L1 4-M1xdepth
w3 w2 L3
d4 L2
7] i T
T 1
% i U =
| o it3 B = = L u J
d3
L W E F E
BRIE S
HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
e gﬁir R%ﬁl H HL | N wl | w2 | w3 |wa| L1 | 12 | L3 |L4|Mixdepth| H3
LWL24B 76 139 14 3 8 40 28 6 44 15 31 4-M3*3.5 3.2
LWL24BG | 111 139 14 3 8 40 28 6 59 28 46.3 4-M3*3.5 3.2
=
SNBSS
BHRS (mm) BURERILRR | MERMSNE WEREAT | woomaunie static
A= Dimensions of Block T X K& (mm) | Standard Standard instantaneous tor
= . s : : que
= Rail mounting |dynamic load| static load
Model bolt\r\n The lngth C co To Tx Ty
W | H4 | W5 | Wwe | d3 | d4 h E F of the bolt size X N N N-m [ N-m | N-m
" 31.8 | 26.7
LwWL24B | 24 8 4.5 8 45 | 20 40 M4*10 3780 6430 78.4 174 146
* 65.6 | 55.0
LWL24BG | 24 8 4.5 8 45 | 20 40 M4*10 4870 9400 115 133 980

12 18 www.yghezh.com



B EZ S A

Micro linear guide rail pair

LWL-42B %%
'
IMEERST
L4
L1 4-M1xdepth
w2
W W3 .
d4 L2
T
TIT \ild
T LI L o s -
i T < —_—
S A == (ALERAE
W6 W5 d
NL W 2
F E
BRIE S
HE (g HERST (mm) FHRRST (mm)
B= Weight Assembly Dimensions of Block
Model 3 3
odel | AR | AM | HL | N wl | w2 | w3 |wa| L1 | 12 | L3 |L4|Mixdepth| H3
Slider | Rails
LWL42B 140 294 16 4 9 60 45 7.5 55 20 39 60 | 4-M4*4.5 3.2
LWL42BG | 204 294 16 4 9 60 45 75| 745 35 583 | 79 | 4-M4*4.5 3.2
=
SNBSS
BIRT (mm) BNRERRER | WERSAE IERSAT | woomaimes static
= f - st X #E (mm) | Standard Standard |,
=3 Dimensions of Block i h : : instantaneous torque
Rail mountin dynamic load| static load
Model bolt\r\n The lngth © co To Tx Ty
W | H4 | W5 We | d3 | d4 h E F of the bolt size X N N N-m | N-m | N-m
LWL42B | 42 10 23 | 95| 45 8 45 | 20 | 40 M4*12 6150 10200 216 63?:1(? 52:;3
LWL42BG | 42 | 10 | 23 | 95| 45| 8 | 45| 20 | 40 M4*12 7910 14000 | 316 | ;| 19

1B www.yghezh.com 13







18NN www.yghezh.com




BRI X ARITESIHE

s Precision Cross Roller Guide
5 NN W
DIRE SRk
HEZH HZ V 1 - 20 - 57 N
NEES Mg ERMERST
NS B
vE BER
WM 2 N [#@fR
MV 2 GH |E=%
NOZ H | &%
P |HBEH
st E

PEISERZ

16 1B www.yghezh.com



RS 7

Precision Cross Roller Guide _
iE M AN

e p RS T

&2 INEESHNEHRERASR VERENSH, RERFR. BERFEAN, HEXXHINERRFELTHERE
HIRY VESRERE FFEREE, ARSI HENES, KISHEE. FRIOELER.

R REVERE R, REMRENY; EoER/, Marttaels SRmRA, BETHE ), BREHEE, FERSNIE.
SRR ; EMRITRE, REERGE.

RXREFIRINBE S

BESFGRITHE

I = 50( ft G )10/3(km) O

fw p.

iﬁ?"é‘;’;: L sEHd ft- RERS fw- HERA - MEDHT  pc- iTEHARERT ft: YTIEREC< 100 B, ft=1
o RN fwe

Trsrtt TAER T ERMBEEREHTS, FEATF 15m/min EREPEHREBNPESHTS, EENTF 15-30m/min

fw 1~1.5 1.5~2.0
Fapbda poitE
110’

2*1*n*60

U :Lh- FFanbtiE] L BESF s |- T2 KE n- B HEERE.

tEHAAE www.yghezh.com 17




A5 S R S

. Precision Cross Roller Guide
5 M i AR

HEME

TIEKERREIHE

OO

K 172

SMEEE

SHHKESNFTENLSE: L2 L5 L FUKE (mm) ; LBTTERKE (mm) -REEKE: K< L2305
K- (REFZRE (mm)

FEEIE D n=(K-2a)/f+1 AP n- REHE (BE/NE); a- ®RIFRRE,; - REERE

HEitE
IEm#E Ml e
L1
EaCpal ]
¢ X
SHy
BNE BT C C:(%3/4C1 C:(S)3/42?/9C1
FEHHT CO Co=3)Co1 C=2*(5)Co,

Fh: C gESHEA (KN) CO- FUEsHf (KN) . Cl- SMRENTESDHE (KN) C0l- 8MNREEIESHA (KN)
n- BRI n/2-- R (RBE&/)ER)

18 18N www.yghezh.com



B R X RTEFEHE
Precision Cross Roller Guide

fiE ihN 0 i
+ SR
FBEREEE
| | |
| |
(l—| T ar
1l | Il “
m v 1
TR
TRT -
1l Il
nlon
Imn v 1
11 ! 1l [
P
(um)
28
- x2S
20
GH
e
H
p
8
4
0 KEE( mm)
200 400 600 800
FEEEE FESEE ESK =k TEELR
s N GH H P
me
SHEEE A, BHFETE ¥ EEME
BEE Rigs +0.02 +0.02 +0.02 +0.01
& EAEERHRE 0.02 0.02 0.01 0.01

LE=12 BXBE + REFE

2. SEHERMZER—aH LRBRHERN 4 RSN, mER—H RS,

1am www.yghezh.com 19



£7 TSRS

Precision Cross Roller Guide
5 NN W

EREEEm
W REHEEE
SRR SR AR R E 105 BB

B REmMIEEEIEFNAR X SHEINEITIEE
e, MREERIKRSNEITRE, BHEMESITRE
EHEE.

AH: EREEZEEMETRE.

BEMCH: FEE: BEEWMEH.

B|BEHE: AT ABNEEEZWMEE A B EEEN
BE.

ALk, BINRERBEZEMAINEE, HEEEREREM
F RN FITERE.

M5

mm é WAEERRT, TINEEIES B BT R,
AR a2 ZARSTHR TGS SRR, BEThONS
/NN AN,

TN HAE MM EREN A S IRETRNAR. SREFAL SHRINESHRAFRE, BEERAIRED, BFRTFREREN, FEEMUAR.
Fltt, BEEHEFTRHIB DO, WREENREERS, WENERNT AR TREE D T AEPRTRERR I LI E.

SRR SHETTERETES, ERNPAEETEY 100°C, 2R R SN TEE RS 30m/min,
pEib

AENEEB N EEHER L A, R RSN, EmSNEIREHIEE. SRERX SHNEINESTTEEEEE (V= 15m/
min) , MEFEEMER N32 i8iEih (GB443-84) , 40°CiEni#hREE 28.8-35.2mm2/s, ERIEBTIEHE RS, MEM (v < 15m/min) #EER
SBETBAE (GBT324-942#) T

20 18 www.yghezh.com



RS 7

Precision Cross Roller Guide

RIEHEFH HZV1

i

i
3
¥
%
&
-
_—
>

f F i
G nx F G &
1 Lo 1
REEERT
B (mm)
- FERY -
gi | HERY RERT = Ui
me TR [ aTw|w|mr|c|n]cl/s|d|b|n|z1]|palr g | f| z c1 | co1
HZV1-20-57 12 20 | 110 14 5
HZV1-30-7Z 79 30 | 210 19 7
HZV1-40-10Z 27 40 | 3*10 26.5 10
HZV1-50-13Z 32 |85| 4 |50|410| 5 (39|18 M2|165| 3 |14|15/15/34| 2 |25 13 | 0108 | 0.12
HZV1-60-16Z 37 60 | 510 415 16
HZV1-70-197 2 70 | 610 49 19
HZV1-80-21Z 52 80 | 710 54 21

i R CLUKN) —8NEEMEEDHET COLKN)-- S MEFHEEH R

fEHANA www.yghezh.com 21



£7 TSRS

Precision Cross Roller Guide
5 NN W

RXEREHESI HZV2

IMNERF

5 i H g f
F 1
nx F R
I Lo I
RRIEER
B (mm)
s TERT - TELH
BA | @'RY RER ;I»{«g (KN)
2 R I TwIm e [RcIsTd [0l hTma] R g | f z cl | co1
HZV2-30-5Z 18 30 | 1*15 21 5
HZV2-45-87 24 45 | 2*15 33 8
HZV2-60-11Z 30 60 | 3*15 45 11
HZV2-75-13Z 44 75 | 4*15 53 13
HZV2-90-16Z 50 90 | 5*15 65 16
HZV2-105-187 64 |12 6 [105 6*15 [7.5(5.45/25 M3 [255(44| 2 | 2 | 2 |73|25| 4| 18 02 | 026
HZV2-120-217 70 120 7*15 85 21
HZV2-135-237 84 135 8*15 03 23
HZV2-150-267 90 150 9*15 105 26
HZV2-165-297 96 165 10*15 117 29
HZV2-180-32Z | 102 180 11*15 129 32

i R CLUKN) —8NEEMEEDHET COLKN)-- SN EFHEE R

22 fEM#E www.yghezh.com



BRI RITSEHE

Precision Cross Roller Guide

RXEREHESIH HZV3

SMEZR T
— ) z(4 %0
B (2 202] o Eogsey
s [ wfo ] & e
hl | F 1
G nx F o R
I Lo 1
REEERT
BB (mm)
£ s BT
BA | @ARY LR fg (KN)
s 78 A|W|LO|nxF | G|H|C|S|d|D|h|I|Da|R| g Z Cl Co1
HZV3-50-7Z 28 50 | 1*25 36 T
HZV3-75-10Z 48 75 | 2*25 51 10
HZV3-100-14Z 58 100 | 3*25 71 14
HZV3-125-17Z 78 125 4*25 86 17
HZV3-150-217 88 150| 5*25 106 21
HZV3-175-247 108 |18 | 8 |175| 6*25 (125/83|35|M4| 33 | 6 [3.1]|25]| 3 E 3 24 0.28 0.38
HZV3-200-287 118 200| 7*25 141 28
HZV3-225-317Z 138 225| 8*25 156 31
HZV3-250-357 148 250| 9*25 176 35
HZV3-275-387 168 2751025 191 38
HZV3-300-42Z 178 300 11*25 211 42

A J=P CLKN) —SMEREIUERDHR  COLKN)-- S REREERHE

tEHALAE www.yghezh.com 23




L7 K RS

Precision Cross Roller Guide

R HEHESFH HZV4

ZM )
/]
S e [YaUR0d
e RSzl P Da e ¢
L F t l
G nx F G ] .
1 Lo o 1
RREERY
B4 (mm)
sy | B e | uEes
gx | @aRT RERT o NG

== i A W|LO|nkFk |[G|H|C|S | d | D|h | I|Da R|g]| f Z C1 co1

HZV4-80-7Z 58 80 | 1*40 51 7

HZV4-120-117 . 82 l120. 2*40 79 | 11

HZV4-160-157 106 160 3*40 107 15

HZV4-200-19Z 130 200 4*40 E 19

HZV4-240-237 . 154 l240. 5%40 163 | 23

HZV4-280-27Z 178 | 22| 11 |280  6*40 | 20 |10.2/ 45|M5| 43 | 8 (42|25 4 E 45| 7 27 0.64 0.78
HZV4-320-31Z 202 320| 7*40 E 31

HZV4-360-35Z . 226 l360. 8*40 247 | 35

HZV4-400-39Z 250 400| 9*40 E 39

HZV4-440-43Z 274 440 10*40 303 43

HZV4-480-477 . 298 l480. 11740 331 | AT

. &= CLKN) — S MRENTEMHF COLKN)-- §MREVEERHEH

24 18 www.yghezh.com



s R S 3 L7

Precision Cross Roller Guide

5 000 W
ZXRIEFI HZV6
Z (%)
i
@ VAR
I
i
% % %ﬁ' % % %
‘{%}‘ Day” { 1 f T
.
G - R
1L 1
B (mm)
=ERN i
P & (KN)
o 9 2 ZEER P
B= ~] "™ Alwlw|nw[G|H|[C|S|d][D[h]I]Da]R|g]|f| 2 c1 | col
HZV6-100-7Z 56 100 1*50 72 7
HZV6-150-10Z | 96 150| 2*50 102 10
HZV6-200-13Z | 136 200 3*50 122 13
HZV6-250-17Z | 156 250 4*50 172 17
HZV6-300-20Z | 196 300| 550 202 20
HZV6-350-24Z | 216 gcl) 15 |350| 6*50 | 25 1145 6 |M6| 52 95[52| 3|6 |242] 6|10 24 | 172 | 1.94
HZV6-400-27Z | 256 400| 7750 72 27
HZV6-450-31Z | 276 450| 8*50 312 31
HZV6-500-34Z | 316 500| 9*50 342 34
HZV6-550-38Z | 336 550| 1050 382 38
HZV6-600-41Z | 376 600| 11*50 412 41

A &/ CLUKN) — S MREBVEUERDHS  COLKN)-- S MREAVEIER S

B www.yghezh.com 25



L

XX

+

BRI X ARITESIHE

Precision Cross Roller Guide

RS HZV9

4
SMEERT
W JACE- @)
11
7777777 T [r——
= i £ o 1O I R —
I
_l & J"L - ® ,’!'l
i } ¥ we I B Il
1==czol (-SR-S -3 I e s
| 1 F I
G nx F G R
Lo 1
T
TEIEEZERT N
B (mm)
Y = e __ | weums
B AaRs R s (KN)
= o
BS 8 AWl mF|[G]RICS [ d D ]n Da] R | g | | 2 c1 | col
HZV9-200-10Z | 118 200 | 1*100 141 10
HZV9-300-15Z | 178 300 | 2*100 211 15
HZV9-400-20Z | 238 400 | 3*100 281 20
HZV9-500-25Z | 298 500 | 4*100 351 25
HZV9-600-30Z | 358 jg gg 600 | 5*100 | 50 %i’ 8 |M8| 6.8 |10.5]6.2 9 (421|75|14| 30 | 432 | 44
HZV9-700-352 | 418 700 | 6*100 491 35
HZV9-800-40Z | 478 800 | 7*100 561 40
HZV9-900-45Z | 538 900 | 8*100 631 45
HZV9-1000-50Z | 598 1000| 9*100 701 50

SE: R/ CLKN) —S-NEEMEUESIET  COLKN)-- SN ERIEE B

26 18 www.yghezh.com



RS 7

Precision Cross Roller Guide

RREESH HZV12
oA
IMEERST
L (M 8)
? —,-'f,” -
o 90 VAN
i | A i L "}:".'
bl w o | <§> i
Sd 1 _B_Jf A " _{}L i 3 D it 7
1_F b {I, - - g f
L F 11
G nx F G R
T Lo L
ok
REEERT .
g (mm)
S8 FERT - e
B AERT RERT s (KN)
== T A Twl | mF[G]R|C] S [d D] nh [T |Da|R[ e F]| z c1 | col
HZV12-200-7Z | 110 200 | 1*100 145 7
HZV12-300-10Z | 190 300 | 2*100 205 10
HZV12-400-14Z | 230 400 | 3*100 285 14
HZV12-500-17Z | 310 500 | 4*100 345 17
HZV12-600-21Z | 350 |58 28 | 600 |5+100| 50 |28 |12 |M10| 85 | 14 [82| 5 |12 [425(125/ 20| 21 | 7.6 | 7.68
HZV12-700-24Z | 430 700 | 6*100 485 24
HZV12-800-28Z | 470 800 | 7*100 565 28
HZV12-900-31Z | 550 900 | 8*100 625 31
HZV12-1000-34Z | 630 1000|9*100 685 34

i R CLUKN) —8NEEMEEDHET COLKN)-- S MEFHEEH R

tEHAA www.yghezh.com 27



£7 TSRS

Precision Cross Roller Guide
5 NN W

ARSI HZV15

A
SMEZR~T
W AGHE @)
11
77 —~ 1t -
s o O 0 . L,
_l A — fl = ® l;!
TEN\IY s o5 <& /
— B . £+ - T 1
& ¢ i / > g || Da i—l ¢ |
h Ct F 1 e
G nxF G R
i Ta I
D
TEIEEZERT .
B (mm)
B FER
: i EEH AT
BA | HERY RER s (KN)
= T2
BS TR A Twl o | |G6|R[c[s|d D h|I DalR g | f Z c1 | co1
HZV15-300-8Z 190 300 | 2*100 205 8
HZV15-400-11Z | 240 400 | 3*100 280 11
HZV15-500-13Z | 340 500 | 4*100 330 13
HZV15-600-16Z | 390 600 | 5100 405 16
71| 36 50 |34.4| 14 |M12| 105 |17.5/10.2| 6 | 15 15 | 25 11.22 | 12.36
HZV15-700-19Z | 440 700 | 6*100 480 19
HZV15-800-22Z | 490 800 | 7*100 555 22
HZV15-900-25Z | 540 900 | 8*100 630 25
HZV15-1000-27Z | 640 1000 9*100 680 27

A TP CLKN) —SMEREIERDHER  COLKN)-- S REREERHE

28 1EM#LHE www.yghezh.com



RS 7

Precision Cross Roller Guide _
iE M AN

ARSI HZV1S

i AGE @
11
A Erl ] @ @ ,fif' @ i | L a0 |
I i
{ Pt : ” g ® %ffy% % @
I T 0N - 3 ! p * </
) SR, - H 1 LY T I |
Sd _Bl_é | / 32 7l {},‘ ] Da __B_I £
h { F "
-G nx F R
I B I
[ B =
TEEERT
B (mm)
B = n WEEH
_ AE R 4R o (KN)
B
e T A lw|w | mr|G6|H|c|s|d|o|ln|1]|Dalr g | f 7 c1 | col
HZV18-300-9Z | 190 300 | 2*100 262 9
HZV18-400-12Z | 240 400 | 3*100 346 12
HZV18-500-15Z | 340 500 | 4*100 430 15
HZV18-600-18Z | 390 600 | 5*100 514 18
83 | 40 50 |38.5/ 18 |M14|12.5|18.5(10.2| 6 | 18 — 19 | 28 1122 | 12.36
HZV18-700-20Z | 440 700 | 6*100 570 20
HZV18-800-23Z | 490 800 | 7*100 654 23
HZV18-900-26Z | 540 900 | 8*100 738 26
HZV18-1000-29Z | 640 1000 | 9*100 822 29

A J|P CLKN) — S MREOTEREE  COL(KN)-- & MR IEIE fEH

tEHAA www.yghezh.com 29



S N AT

5|5|—‘—|—'l—

XRESFIE

PreC|5|on Cross Roller Guide

XS HZWM2 25

IMERT

R
ep Z
0,
P
) g (mm)
I —EE T - e
T | Bk | 48RY wERT G (KN)
= >~ |7 T L e [EL[ 2 (Wi M [ dL [a2] b [w2[Da] R [ e z c1 | col
HZWM2-30 18 30 | 1*15 31 5
HZWM2-45 2 45 | 2*15 33| 8
HZWM2-60 30 60 | 315 | 45 11
HZWM2-75 44 75 | 4*15 | 53 | 13
HZWM2-90 50 90 | 5*15 65 | 16
HZWM2-105 64 | 24| 6 [105| 6*15 | 75| 15 | 19 |M3|255|44| 2 | 11| 2 [ 73 |25 18 | 099 098
HZWM2-120 70 120/ 7*15 85 | 21
HZWM2-135 84 135| 815 lo3 | 23
HZWM2-150 9 150 9*15 | 105 26
HZWM2-165 % 1651015 17| 29
HZWM2-180 102 180 11*15 129 2
7 FRA CLKN) — & MASEREENHEAE  COLKN)-- S MNREIEES S

30 18 www.yghezh.com



fBERXXORIEFHE

Precision Cross Roller Guide

fiE i i i
XX FH HZWM3 #F
i Exoexi I o
o & [ o o | )
& . F L E "
REEERT
g4 (mm)
T sm - = - ST
S |BA| @&Rd RERT ok
BS S~ ™ A TR L B2 Wi M| dl [a2] h [W2|Da]| R e p | Z c1 | col
HZWM3-50 28 50 1725 3 7
HZWM3-75 48 175 | 2%25 51 10
HZWM3-100 58 100 3%25 71 14
HZWM3-125 78 125 4%25 86 17
HZWM3-150 88 1150 525 106 2]
HZWM3-175 | 108 | 36 | 8 |175 625 125 25|29 |M4|33 | 6 |31|166/ 3 |121|35 5 | 24 | 199 | 2.9
HZWM3-200 | 118 200 7%25 141 28
HZWM3225 | 138 1225 825 156 31
HZWM3-250 | 148 250 9%25 176 35
HZWM3-275 | 168 275 10725 191 38
HZWM3-300 | 178 300 11725 211 2

1 FRP CLUKN) —SMAEEEDHE  COLKN)-- & MARRRAERHR

B www.yghezh.com 31




BERXRITFNE

Precision Cross Roller Guide

S N AT

XS HZWM4 25

LA
IMERT
(&
1ol Er nxF Ev |t i
F D i T
& =g ) i |
3 B O ] - ' ep Z
2 I - @G§~@j o ] = = S O
£ % 3% .= oI -
E:z F E: n
e
TEEERT .
B (mm)
\\\ s . FER , | m o
S |®x| @aRe wRRT s (KN)
BS ST A TR L TEL[E2 (W1 M | dl [d2] h [W2|Da] R z Cl | co1
HZWM4-80 58 80 | 1*40 51 7
HZWM4-120 82 120 | 2*40 79 11
HZWM4-160 106 160 | 3*40 107 15
HZWM4-200 130 200 | 4*40 135 19
HZWM4-240 154 240 | 5*40 163 23
HZWM4-280 178 | 44 | 11|280| 6*40 | 20 | 40 | 35 | M5 43 | 75|41 20| 4 191 27 | 328 | 691
HZWM4-320 202 320 7*40 219 31
HZWM4-360 226 360 | 8*40 247 35
HZWM4-400 250 400 9*40 275 39
HZWM4-440 274 440 | 10%40 303 43
HZWM4-480 208 480 | 11*40 331 47
£ Feh CLKN) — S MREIIUENSE  COLKN)-  MRENTER

32 @M www.yghezh.com



Nz = =
SRS S A L3
PreC|5|on Roller Guide _ _
B M w
uwi.l.e.;ms
M/V B K FENE
MV B RBEAREHREEN, SRTESRENAEE. MEtLMRHASAEL, LB RS &RHUSTENERBEERAR/ R
71, MR ERARINIE,
'
IMEER~F
= its
=p 3 lfan) lan R ST
5 & &3 =
f—
/) ‘ L q
" > + 5 (( + =" LL:I___.I_ et DIEFLAR
= ii @ 5 Z
=
L2 Li Lo
L
o
REEERT
BE |#4&| A | B |Da| F | J [Jl | LL|L2| N | a | d| e el]|f g | m|ml|lqg |t | u ul
HZ-M/V [3015| 30 | 15 | 2 |10.5|155|17.4|1)40| 3) | 55 | 0.7 | 85 | M4 | M3 |525|105| 8 |55| 7 |15 7 | 7
Hz-M/V | 4020 40 | 20 135225] 22 [2)80| 4) | 75| 1.3 [115( M6 | M5 | 7.5 [132] 10 | 55| 8 | 20 | 11 | 105
HZMNV | 5025| 50 | 25 17 | 28 | 28 |2)80| 4) | 10 | 1.3 [115| M6 | M6 75 |182| 12| 7 | 9 | 15 | 13| 13
HZ-M/V |6035| 60 | 35 | 25| 20 | 35 |355|100 |50 | 11 | 1.3 | 15 | M8 | M6 | 10 | 26 | 14 | 8 | 9 | 20 20 18
HzMNV [7040| 70 | 40 | 3 | 24 | 40 [415] 100 50 | 13 | 1.3 [185|M10| M6 [125] 20 | 16 [ 10| 9 | 25 [ 20 | 20
HZ-M/V |8050| 80 | 50 | 35| 26 | 45 | 48 | 100 |50 | 14 | 13 | 20 [M12| M6 | 14 | 37 | 20| 10| 9 | 30 |30 | 25
1) FHEE 100: L1=352x) 2) WFHEE 100: L1=50 3) =815 4) 8/ .20,
e g KEL Maxl
HZMN | 3015 100 150 200 300 400 500 600 1200
HZ-MN | 4020 100 150 200 300 400 500 600 1500
HZMN | 5025 100 200 300 400 500 600 700 800 900 1000 | 1500
HZMN | 6035 200 300 400 500 600 700 800 900 1000 1500
HZ-MN | 7040 200 300 400 500 600 700 800 900 1000 1500
HZ-MN | 8050 300 400 500 600 700 800 900 1000 1500
Hitt R<TiEE8,

B www.yghezh.com 33




L

BERITFENE

Precision Roller Guide

N/O ELREt FHE

y -

N/O BIZERRHRISRN, XMSNERTEHFNAGE, FRFRLEBHTINRHERSEIMNSNAT RSN,

y
IMERT
b= t
f AN N é =~ S o M NN
= ;
=T 5 &5 -
{ = { |
[=Y=
" §i /4 | q
T =4 + + = 11 opus
CRIm— 1P OO 544
= = L2 Li L
T
Lrm b - s
RREERT
S |HE| A B |Da| F J [ J1 |l || N d e | el | f g | m|ml| g u | ul
HZ-N/O [3115] 31 15 11 16 18 50 25 6 95 | M6 | M3 | 52 | 98 | 7.5 | 45 T 7 7
HZ-N/O | 4422 | 44 22 15 24 | 245|100 | 50 9 105 M8 | M4 | 6.8 [158] 11 6 11 10 10
HZ-N/O |5225| 52 25 18 28 29 | 100 | 50 10 |135|/M10| M6 | 85 | 16.8| 12 7 11 14 11
HZ-N/O | 6230 | 62 30 | 25 | 22 34 35 | 100 | 50 12 (165 |M12 | M6 | 105 |19.8| 15 11 18 12
HZ-N/O | 7435| 74 35 3 25 (425 40 | 100 | 50 14 | 185 | M14 | M6 | 125|228 | 18 10 11 19 16
HZ-N/O | 7845 | 78 45 35 25 45 45 | 100 | 50 14 | 185 | M14 | M6 | 125|328 | 18 12 11 29 20
e g KE L Maxl

HZ-N/O 3115 100 150 200 250 300 350 400 450 500 1200
HZ-N/O 4422 200 300 400 500 600 700 800 2000
HZ-N/O 5225 200 300 400 500 600 700 800 900 1000 2000
HZ-N/O 6230 300 400 500 600 700 800 900 1000 2000

N/OT435,N//07845 Hith R~T 5],

34 fEMHE www.yghezh.com



HERL SE) . 45)

Precision Roller Guide

B M AN
7
R RERHRIFEE
- EEEHARIRE
- TR @DV RIEEFRIFER
-KEE: 1NEREEs @ M/N RIREHRIFR
2. B ERES @ N/O E§HRiFEE
3.GCrl5 @ WM RFRERRIFE
- ARIEE PIEE K EMLN G
oA
SMEERT
— L 1
t Lw —.gt‘_ |
oS o (O00000000000000001
B
p
- ..
TEIEERT
; ; Suitablefor Max.
it HZ Da Lw B P g C/Needlein N lNear e rings Type UEhEH
HZ-M/V 10 2 48 | 10 4 8 530 N/O 62015 M/V 3015 2000
HZ-M/V 15 3 68 | 14 | 45 | 35 750 N/O 92025 g"r’:gggig 2000
HZ-M/V 16 2 88 | 16 | 38 | 28 970 M/V 5025 2000
HZ-M/V 20 | 25 | 98 | 20 | 55 4 1375 N/O 2535 M/V 6035 2000
HZ-M/V 25 3 | 138 | 25 6 45 2350 N/O 3045 M/ 7040 2000
HZ-M/V 30 | 35 | 178 | 30 7 5 3600 N/O 3555 M/V 8050 2000

1B www.yghezh.com 35



£

5 N W
A T R M AL PR 22 7

YUEQING HENGZHOU MACHINERY CO., LTD
Hnk: KAERIIHEEETIX
fEE: 0577-62116073 Mi3E: www.yghezh.com

HEHZ:15858872929
15857779798




	封面AA
	封面AA2
	封面AA3
	封面AA4
	封面AA5
	封面AA6
	封面AA7
	封面AA8
	内页AA
	内页AA2
	内页AA3
	内页AA4
	内页AA5
	内页AA6
	内页AA7
	内页AA8
	内页AA9
	内页AA10
	内页AA11
	内页AA12
	内页AA13
	内页AA14
	内页AA15
	内页AA16
	内页AA17
	内页AA18
	内页AA19
	内页AA20
	内页AA21
	内页AA22
	内页AA23
	内页AA24
	内页AA25
	内页AA26
	内页AA27
	内页AA28
	内页AA29
	内页AA30
	内页AA31
	内页AA32
	内页AA33
	内页AA34
	内页AA35
	内页AA36

